
 

 

FA-1 Question paper 

I) Four alternatives are given to each of the following incomplete statements choose 

the most appropriate one write with its serial number:    

1.If nth term of an AP is an=5n+3 then the 3rd term of the AP is                 (1) 

    A)11     B)18    C)12    D)13 

2.The corresponding sides of two similar triangles are in the ratio 1:4, then the ratio of 

their areas is                                                                                     (1) 

   A)1:2     B)1:16    C)1:4    D)16:1     

3.In a pair of linear equation a1x+b1y+c1=0 and a2x+b2y+c2=0 ,if 
𝑎1

𝑎2
 ≠

𝑏1

𝑏2
 then write the 

number of possible solutions of the linear equation                               (1) 

4.In the following AP find the missing term 2,      ,26                                 (1) 

5.solve the following pair of linear equation                                                (2) 

   3x+2y=11 

   5x-2y=13 

6. In triangle ABC ,DE ∥ BC.If AD = 5cm ,BD = 7cm and AC = 18 cm .  (2) 

   Find the length of AE.                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                    

                     

 

 

7. Find the sum of first 20 terms of arithmetic series 5+10+15….              (2)   

8. Two poles of height 6m and 11m stands on a plane ground, if the distance between      

their feet is 12m. Find the distance between their tops.                                          (3) 

 

9. Find three numbers in A.P., whose sum is 21 and the product is 231              (3) 

   

10.  prove the theorem that if in two triangles, corresponding angles are equal 

then their corresponding sides are in the same ratio (or proportion) and hence the two 

triangles are similar                                                                          (4) 

 

 

 



 

 

gÀÆ. ªÀiË. -1 ¥Àæ±Éß ¥ÀwæPÉ 

I) F PÉ¼ÀV£À ¥Àæ±ÉßUÀ½UÉ £Á®ÄÌ DAiÉÄÌUÀ¼À£ÀÄß ¤ÃrzÉ ¸ÀÆPÀÛªÁzÀ MAzÀ£ÀÄß Dj¹ CzÀgÀ PÀæªÀiÁPÀëgÀzÉÆA¢UÉ  
§gÉ¬Äj. 

1) À̧ªÀiÁAvÀgÀ ±ÉæÃrüAiÀÄ n £ÉÃ ¥ÀzÀ an=5n+3 DzÀgÉ ±ÉæÃrüAiÀÄ 3 £ÉÃ ¥ÀzÀªÀÅ    (1) 

    A)11     B)18    C)12    D)13 

2) JgÀqÀÄ ¸ÀªÀÄgÀÆ¥À wæ¨sÀÄdUÀ¼À C£ÀÄgÀÆ¥À ¨ÁºÀÄUÀ¼ÀÄ 1:4 C£ÀÄ¥ÁvÀzÀ°èzÀÝgÉ CªÀÅUÀ¼À «¹ÛÃtðUÀ¼À 
C£ÀÄ¥ÁvÀªÀÅ             (1) 

   A)1:2    B)1:16    C)1:4    D)16:1     

3) gÉÃSÁ À̧«ÄÃPÀgÀtUÀ¼À eÉÆÃr a1x+b1y+c1=0  ªÀÄvÀÄÛ a2x+b2y+c2=0 gÀ°è 𝑎1

𝑎2
 ≠

𝑏1

𝑏2
  DzÀgÉ F 

¸À«ÄÃPÀgÀtUÀ½UÉ EgÀ§ºÀÄzÁzÀ ¥ÀjºÁgÀUÀ¼À ¸ÀASÉå JµÀÄÖ?       (1) 

4) ¤ÃrgÀÄªÀ À̧ªÀiÁAvÀgÀ ±ÉæÃrüAiÀÄ°è SÁ° CªÀPÁ±ÀzÀ°ègÀ̈ ÉÃPÁzÀ ¸ÀASÉå PÀAqÀÄ»r¬Äj2,      ,26 (1) 

5) F gÉÃSÁvÀäPÀ ¸À«ÄÃPÀgÀtUÀ¼À eÉÆÃrAiÀÄ£ÀÄß ©r¹.         (2) 

3x+2y=11 

    5x-2y=13 

6) wæ¨sÀÄd ABC zÀ°è DE ∥ BC ºÁUÀÆ AD = 5cm, BD = 7cm ªÀÄvÀÄÛ AC = 18 cm DzÁUÀ   

AE GzÀÝªÀ£ÀÄß PÀAqÀÄ»r¬Äj.          (2) 

                                                                                                                                                  

7) 5+10+15…. . . . . . . . . F ¸ÀªÀiÁAvÀgÀ ±ÉæÃtÂAiÀÄ ªÉÆzÀ® 20 ¥ÀzÀUÀ¼À ªÉÆvÀÛ PÀAqÀÄ»r¬Äj.(2) 

8) 6 «ÄÃ ªÀÄvÀÄÛ 11 «ÄÃ JvÀÛgÀzÀ JgÀqÀÄ PÀA§UÀ¼À£ÀÄß ¸ÀªÀÄvÀmÁÖzÀ £É®zÀ ªÉÄÃ¯É 12 «ÄÃ ¥ÀgÀ À̧àgÀ 
zÀÆgÀzÀ°èzÉ. D JgÀqÀÆ PÀA§UÀ¼À vÀÄ¢UÀ¼À £ÀqÀÄ«£À zÀÆgÀªÀ£ÀÄß PÀAqÀÄ»r¬Äj.   (3) 

9) MAzÀÄ ¸ÀªÀiÁAvÀgÀ ±ÉæÃrüAiÀÄ ªÀÄÆgÀÄ ¥ÀzÀUÀ¼À ªÉÆvÀÛ 21 ºÁUÀÆ UÀÄt®§Þ 231 DzÀgÉ D ¥ÀzÀUÀ¼À£ÀÄß 
PÀAqÀÄ»r¬Äj.            (3) 

10) JgÀqÀÄ wæ¨sÀÄdUÀ¼À C£ÀÄgÀÆ¥À PÉÆÃ£ÀUÀ¼ÀÄ À̧ªÀÄªÁVzÀÝgÉ, CªÀÅUÀ¼À C£ÀÄgÀÆ¥À ¨ÁºÀÄUÀ¼ÀÄ 
¸ÀªÀiÁ£ÀÄ¥ÁvÀzÀ°ègÀÄvÀÛzÉ JAzÀÄ ¸Á¢ü¹.        (4) 

 

 


